CHNT
POWER

QUICK INSTALLATION GUIDE | ®[
Single-phase Grid-tied PV String Inverter =
CPS SCA7KTL-PSM/EU ® =

CPS SCA7.5KTL-PSM/EU

CPS SCASKTL-PSM/EU

CPS SCA10KTL-PSM/EU

Version: 0.0

Date:13/01/23

SHANGHAI CHINT POWER SYSTEMS CO.,LTD Office
Site: www.chintpower.com

Customer Service Line: 021-37791222-866300

. PACKAGE CONTENTS

G Removal tool for DC connector

A Inverter

INSTALLATION

1. The walls must be fireproof and non-flammable materials, otherwise there is a fire risk.
2. Before drilling holes, check whether there are electric power pipes or other pipes buried in the walls to avoid risks.

Note: The following steps are only illustrated by the type A bracket.

H 6-Pin terminal

B Mounting bracket

C ACoutput Connector | DC terminal connector group

D File package J Expansion screw group

E Screw

F _RS485 Cover

Set bracket horizontally.
Mark the holes position

@: 10mm; Depth: 60mm

Expansion screw group A\,E /Q /[)

(M6; 3 suites) dt —
Cc&D
i Sl
-

" | GROUNDING

the AC cable. Ensure that both are

1. According to regulations, the secondary protection grounding can’ t replace the PE terminal connection of

grounded reliably.

2. Ensure that inverter and all cables to be installed are completely powered off during whole installation and
connection. Otherwise, fatal injury can occur due to the high voltage caused from AC and DC cables.

Items Remark
Screw M4 X12mm; 1.2 N.m
OT Terminal 0T6-4

Yellow greenlines S(Yellow greenlines) = S(PE line of AC cable)
Siis the cross-sectional area.

Note: @ is for WiFi/GPRS communication

@ is for RS485 communication (For RS485 cable connection, refer to
user manual.)

' 1 Wires making.

< on the wall.
- N15° Install the expansion tubes.
Z_] INSTALLATION LOCATION 7 5 =600 1 2 Drillthe holes. 3
°
& =60°C > 600 Pa T
~ = 600
>K 7 . //J
=>-25°C =iy J
! g
! q M6 screw; 3N.m
— . M6 Expansion screws; 2~2.5N.m . .
<100% ———— =600  Unit:mm J Unit:mm 6 Expansi > Install the inverter. Tighten the screws at sides.
| : Install bracket. 5 6
Bracket for 7K/8K/10K 7
DIMENSIONS 4L '\ AC CONNECTION
—
400mm o I 335m8n; — Before connecting the AC terminal, ensure that both the AC terminal and the DC terminal are powered off
""" and the DC switch is OFF. Otherwise there is a risk of high voltage shock.
Frasg 96mm 240mm 121mm
sgmm | | | . == S5 i .
v om 13 ! Heat shirnkable tube
450mm Eﬁ @ —tu
I HLZ:L1#[2N -3mm) .
(i} | fcation M5
SRV - It is recommended to use outdoor dedicated cables with multiple copper cores.
LE;_{;, Wmodel 7K-10K
7K/8K/10K A \zvnilr;)outer diameter 14-20
(Single MPPT) Cross-sectional Range 8
area (Mm?) pec. ded 814

2 Wires threading and pressing.

Ul

Screw Torque
7K-10K M5 1.5N.m

Lock the AC cable to the corresponding AC terminals.

=

e

Nut Torque
7K-10K M25 5.5N.m

@ 4xM4screws; 1.2N.m

Align the AC cover with the 4 holes and tighten it
firmly with 4 x M4 screws.

4  @Fastenthe nut (waterproof cap).




’ PV CONNECTION
1.Photovoltaic arrays exposed to sunlight will generate dangerous voltages!
2.Before connecting the DC terminal, ensure that both the AC terminal and the DC terminal are powered off
and the DC SWITCH is OFF. Otherwise there is a risk of high voltage shock.

|Use crimping tool to
istitch. Limit buckle

| 8~10mm ! | Limitbuckle' 1 Positive Connector | )
! El ‘ | N+ ! Click
WHRE= + o ‘
. | |
Diameter I ! 1 I I
5~8mm i 8~10mm ! | v _ i ! !
—'E' Mife—" — clmli— ' | —_—
I ! I
I
I
I
I

! Tighten the waterproof nuts on Test string voltage and confirm string polarity.
1 each connector with a wrench
| to avoid loosening.

Note: DC cable should be dedicated PV cable (suggest using 4~6mm? PV1-F cable)

Startup Procedure
| STARTUP / SHUTDOWN PROCEDURE oy (ORI ]
. Main Switch
|n5peCt|0n (See if there's any on site)
No. Items

@ DC Switch =
1  Theinverter is firmly installed. ~
2 Thereis enough heat dissipation space, no external objects OFF e
or parts left on the inverter. @ g e
3 Itis convenient for operation and maintenance. ON A
The wiring of the system is correct and firm.
5 Check whether the DC and AC connections are correct with
a multimeter, and whether there is a short circuit, break, or
wrong connection.

@ AC Circuit
Breaker

ON
OFF
~ B - .
— I -—@LED|con:
Py S

Blue on (normal status)

IS

Shutdown Procedure

6  Check whether the waterproof nuts of each part are tightened. Supply [(Dl 1 J
7 Thevacant port has been sealed. Main Switch
8  All safety labels and warning labels on the inverter are complete Seeiidiaasanyend )
and without occlusion or alteration. @ DC Switch o
After the inverter is powered off, the remaining electricity and T~ @Ac Gitchit
heat may still cause electrical shock and body burns. If need to oFF U = Breaker
disconnect the inverter cables, please wait at least 10 minutes on - Ly
before touching these parts of inverter. 5l

. BLUETOOTH CONNECTION SETTING

I:]E NOTICE After the inverter is installed and powered on, please use the APP (Chint Connect)
to connect to the mobile phone Bluetooth to calibrate the time.

1. Scan the QR code to download "Chint Connect" APP:

Note: You need to grant all access rights in all pop-up windows when installing the APP or setting

your phone.

2. Install WIFI module into the COM1 port of the inverter.

3. Power on the inverter.

4. Open the Bluetooth function on your own phone, then open the APP and operate as below.
4-1.Touch "Smart Link" icon to enter smart link interface and then click "Next" button to enter the
"Connect to the adapter" interface.
4-2.Choose correct wireless network name (can be found on the WiFi module) from the Bluetooth List, the
inverter will connect to WiFi dongle.
4-3.Click "INV/ESI settings" button to enter the "Inverter Settings" page.
4-4.Click "Initial" button to set grid code, then get back and click "RW Register" button to set register
parameters or modbus address if necessary. Now you can click "Overview" button to see basic information.

16:219 il 5G = 16:21 wl 56 = 16:21 Wl 5C .- 16:229 wl 5G -
",-*\E" Inst d "-:'-""' Service Back  Connecttotheadapter  WiFi Back  CUGW-5062217005992 Back Inverter Settings A
8 Modbus 1D 1
Ciiek *-I Refresh Grid code setting 2 >
CUGW-508227005992
) o
5]
ca
Intemet Settings
e LED status Explanation
DISPLAY B
Red/green/blue 1. Inverter firmware updating
\ lightupin turn 2. Initial status of power-on
( H SCA Series ) Bl blinks slowly (1s/time) Standby
\ ) ue
/ n Normal status
Green on Power limited status
blinks slowly (1s/time) Output side fault
LED Red

blinks fast (0.25s/time)

on Inverter internal fault

Input side fault

As the technology is constantly updated and improved, the illustrations in this document are for reference only. Contents including illustrations in this document
are subject to ci /mnw without notice.

614-00184-03



	頁 1
	頁 2

